#### 

Annexure -A - Record of material issued to/received from contractors.

Sign	of project	Sign of adr	clion un	Projec	t name/loca	ation	Sercopo face				
mana		Sign of adr	nin: Not		2/2020 Si	gn of security:	Cooks gard		admin audit:		
S. no	Date of issue	Material description	Qty	Units	Rate*	Amount*	Issued by#	Issued to#	T-II. 1 (	0	
164	14-04-20	Speages.	20	Nos.	10	2000	Serecaje .		Tally dr/cr V no.	Sign of Builder	Sign of Contra
76°8	12222	0		1		- Alexander	117	Paintaco.		Sy .	
706	117-07-20	Brokey brown	10	Nos.	10	100	Goorge 11	Paia Pack.		8	
469	17.07.20	Ceopra)	10	Bogs.	293	21930	Boscope les	Painlaco.			
270	17-07-20	Ceanoal	10	Bags.	393	21938	Serrosp UP	Poisson.	8	O Col	
41	14.04.20	Sprage.	Ofe	N/68.	#0	40	Socrage we	Poidaco.	8	3	
72	1404.20	Boartay (moon)	OG	1/08	10	40	Secron UP	Pointop	(		
73	14-04.20	Cempal	10	Eags.	293	2930	Savane Mb	Painiach		7	
* ·	22-04-20	corpositive of GST. 2. Issued by can be Corposite (Friday to Thursday). 6. Check rate with pu	12	bags.	293	3518	0 10	$\Omega$ : $\Omega$ : $\Omega$			

## CECETICATE CONTROL CON

Annexure – A – Record of material issued to/received from contractors.

Name	of firm/compa	ny Socope cogsti	wellow us	Project	name/locat	ion	Screene fare				
Sign of project manager:		Syl Sign of adm		W/20/2	hno Sig	n of security:	98-	Sign of a	Sign of admin audit:		
S. no	Date of issue	Material description	Qty	Units	Rate*	Amount*	Issued by#	Issued to#	Tally dr/cr V no.	Sign of Builder	Sign of Contracto
75	22-04-20	Ceagad	14	Eagle.	293	40102	Correge we	faig Pace		Spel	
7%	22.04.20	Carpa	06	Eags.	293	11758	Compy 110	Join Dace		Sort	
オチチ	21-07-20	Cheken wish	02	Nas.	IAE.	342	Sorrage LOP	Poisodoca		Syla	
778	21-07-20	Spage.	20	1/08	10	200	Congo 100	PojaTook		Cyla	
719	22-04-20	Chopean njesh	03	1/68.	141	\$18	Sarage UP	POTOSack		Syl	
780	22-04-20	Googes.	24	1/8.	10	210	Soccepe 100	Poislack		Sylv	
£81 c	22-04-20	Coartag Lacoan	OF .	Nos.	10	So	Secrego 100	Paraiace		Sylv	
182	22-07-20	Spooges	14	Nos.	10	140	Green 100	PajaTasa		Suda	

Notes: 1. \* Rate and amount are exclusive of GST. 2. Issued by can be Contractor or Builder. Same for issued to. 3. Builders sign must be of project manager or admin officer at site. 4. Write on alternate lines. 5. Start with fresh page at end of each week (Friday to Thursday). 6. Check rate with purchase/PO/WO.

I

### 

#### Annexure - A - Record of material issued to/received from contractors.

Name	of firm/compa	ny Seesa je Coastrevel	an up	Project	name/locati	ion	Social Land	ars.			
Sign of project manager:		Sign of admin:	male	1 2912 horo Si		n of security:	68-	Sign of a	Sign of admin audit:		
S. no	Date of issue	Material description	Qty	Units	Rate*	Amount*	Issued by#	Issued to#	Tally dr/cr V no.	Sign of Builder	Sign of Contracto
783	2204-20	Brankful Eccorps.	25	aps.	10	250	Greege 18	Pois Dace.		Sy	
184	22-07-20	Chicken Mesh	01	N/os.	171	ÎĦ	Songe W	Paidle .		Sx	
785	13.07.20	Ceangral	14	Engs.	293.	41102	(Sociage wo	PaioDate		Sy	
786	13.07 20	Cargrass	11	Engs.	293	3'223	Compe 11P	Poiovack .		Sy	
787	13.04-20	Cempa	of	tags.	293	1,172	Sorege wo	Paislack.		Sy	
788	10-04-20	Ceago	14	pags.	223	41102	Sorreage WP	Paiaraca		Sy	
789	10-04-20	Ceapral.	09	bags.	293	2'637	Sereon es	Para Vaco		Sy	
790	10-07-20	t are exclusive of GST, 2. Issued by can be Control	05	6095.	293	1465	(Soccope w)	Priora		Say	

es: 1.\* Rate and amount are exclusive of US1. 2. Issued by can be Contractor or Builder. Same for issued to. 3. Builders sign must be of project manager or admin officer at site. 4. Write on alternate lines. 5. Start with page at end of each week (Friday to Thursday). 6. Check rate with purchase/PO/WO.

Page 20 of 50

# 

Annexure - A - Record of material issued to/received from contractors

Name of firm/company					Project name/location			Screene farans.						
			" pal	Maley Sign of security:			68-		Sign of	Sign of admin audit:				
	Date of	Material description	Qty	Units	Rate*	Amount*	-1	Issued by#	Issued to#	Tally dr/cr V no.	Sign of Builder	Sign of Contracto		
791	issue (5-0∀-20	Ceograi	10	Bogs.	293	2,930		Break Rix	fora Doce		Syl			
792	16-04-20	Chopea Mach	8	1/08.	171	835	C	Breedje UP	Riodock	,	Syl			
<b>19</b> 3	16-04-00	Boarlay Grocen	04	N/08 .	10	200		Errege W	Ridrock		Syl			
194	16-04-00	Synages.	10	1/68.	10	100	(	Soccope Lip	Pajarace		Syl			
195	17-07-20	Spage	00	1/8.	10	200		Errago WP	Poistaco		Sylv			
196	14-07-20	Booker Greece	70	1/88.	10	100	(	Sercoje UP	Pointace		Sel			
97	17.0700	Campras .	.10	1/08.	293	21938	(	Secure 14	Pointace	2.	Syl			

Notes: 1. \* Rate and amount are exclusive of GST. 2. Issued by can be Contractor or Builder. Same for issued to. 3. Builders sign must be of project manager or admin officer at site. 4. Write on alternate lines. 5. Start with fresh page at end of each week (Friday to Thursday). 6. Check rate with purchase/PO/WO. Page 21 of 50